
ANDRADA - Ross



DEFINICIOÍNFUNCIOUTRANSFERENCIAGRE1-
STZ

Gz= SI
stltti )

Gza 1-

stls- i )

Xo = [ 0-1 0.3 0.2]

UCD =
1

Sus
"si



DiAGRAMADEFwTSEL

Uls) Xrls)
I) •Í•• Get the-2

Ha

62

Mls) ~ Xzls)
↳ 1 = § Gz = 1

E) •t.ae?y..-.. He = - lei )

Ha

Xzls) Xsls) Yls)
A) •Í•Í• Gea ts

¥ He -4 - i)

1-

e. ⇒ is.IT,
-

- IÍ ÷
' - art" l

.

= Éi

I +S

I) Girl =Í = =

1- Gitk 1-1 f- (Hi ) EÉ stlrti )
S

s+i "



FUNCIÓNTRANSFERENCIACST1)
UI =

fstzffst1-itlst1.DE
=

(stz) ( ft s - is t s t i -I t + ± - i
' )

E- ls) = =

(St2) ( Rt 2St2) 8+25+25+2574 s t4

¥ ls) = Sst 48+651-4

IYODEOENESPACIODEESTADOI: i : : :* %:&
y

= lo e i ) ( §
,
/ + lo tuits



Matlab Simula
A-
= [ - 4 6 - 4

' o . ¥→ÉEHIO 1 o ] State -Space sope

O Parados
B = [ 1 O A -_ A

1 B B
O O G-C

O] D=D

[ = [ O 1 1 ]
Cord

.

Iniciales

Ci

D= [o]

Ci = O

- .-

Ci = [ 0.1 0.3 0.2]



CIH

CI


